
Especificaciones Técnicas STGKTD78 

 

 

No. Nombre Cantidad 

1 Cable AWG 6 1 

2 Grapa de anclaje 7/8” 1 

3 Terminal 1 

4 Arandela de presión M6 2 

5 Tuerca M6 2 

6 Remache M6 2 

7 Terminal 1 

8 Tornillo 3/8” 2 

9 Arandela plana 3/8 2 

10 Arandela de presión 3/8” 2 

11 Tuerca 3/8” 2 

12 Termofit  1 

13 Cinta PVC 1 

14 Goma  1 

 

 

 


